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UNKNOWN Potential type!! Has 

to be either 1 (fixed total head) 

or 2 (variable total head). You 

defined 0 (zero) this is an error!! 

You defined here fixed total 

head (code 1). 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Caso P 

 

 

 

 

 

 

UNKNOWN Potential type!! Has 

to be either 1 (fixed total head) 

or 2 (variable total head). You 

defined 0 (zero) this is an error!! 

You defined here variable total 

head (code 2). 



 

 

 

 

 

 

 

 

You have here different 

permeability on x and y 

dirrection 


